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Part |
Reading Comprehension

In this part there are 10 units. In each u-
nit, there are four reading passages with twenty
questions or unfinished statements, each with

four suggested answers or ways of finishing. You

should choose the one which you think fits best.
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2 _ Unit One

Unit One
Passage 1

Over a period of time, many habitats ( 1 5 H#)
change with respect to the types of plants and animals
that live there, this change is known as succession.

Succession occurs because plants and animals
cause a change in the environment in which they live.
The first weeds and grasses: that appear on a bare field,
for example, change the environment by shielding ( {#
3 ; B ) the soil from direct sunlight. As these plants
spread, the ground surface becomes cooler and more
moist than it originally was. Thus, the environment at
the ground surface has been changed. The new surface
conditions favor the sprouting of shrubs ( ¥ K B9 4
£). As shrubs grow, they kill the grasses by prevent-
ing light from reaching them and also build up the soil
in the area. In addition, they attract animals that also
enhance the soil. Pine seedlings soon take hold and as
they gtow, they in tum shade out the shrubs. They are
not able to shade out cak and hickory seedling, howev-
er, that have found the forest floor suitable. These
seedlings grow into large trees that eventually shade out
the pines.

1.The best title of this passage is
A.The Importance of Weeds and Grasses.
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B. How Environmental Habitats change?
‘ C. The Success of Oak and Hickory.
D. Animal and Plant Habitats.
2. In the passage the correct order of plant succession
i in the example is
h A.weeds, pines, shrubs, oak
; B. oak, pines, shrubs, weeds
}: C.weeds, shrubs, pines, oak
D. shrubs, weeds, pines, oak
3. According to the passage, how do weeds and grass-
es affect the soil?
A.They make it cooler and wetter.
i B. They attract animals to it.
! C. They spread seeds on it.
D. They add nutrients to it.
4. It can be inferred from the passage that
A. oak and hickory trees grow taller than pines
B.weeds and grasses prefer cold climates
C. pines and grasses can exist together
D. birds discourage the growth of shrubs
5. Which of the following is a stage of succession as
described in the passage?
A. A forest cut down to build an airport.
B. A flood washing away a crop of wheat.
C. Wild flowers growing in an unused parking lot.
D. Animals being tamed by children.
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- 6 Unit One

Passage 2

When one of your car tires goes flat, there are two
things you can do. Groan and change it or, if you
don’t have a spare, stand helplessly beside the road
and hope someone comes to your rescue. Now cames. g
third alternative, called Quickwheel. It is designed to
get disabled motorists rolling again as quickly as possi-
ble. '

Quickwheel is essentially a tiny emergency trailer
(# % ) —camplete with three tough little wheels of its
own—that supports the flat tire and enables the mo-
torist to drive to a service station without losing much
time or expending much energy. The product is manu-
factured in the Netherlands but is owned and marketed
by a U.S. company, Quickwheel Inc. of Greenwich,
Connecticut. According to the firm’s president, Robert
Bockweg, the product meets each of the major concems
that consumers associate with flat tires: safety, lost
time and physical exertion.

To use it, motorists simply unfold the product to
its fully extended position, set it in front of the dis-
abled tire, drive the car onto the Quickwheel’s ramp
(f#%E ) and attach a special safety strap over the
tire. The tire is then locked, or cradled, in Quick-
wheel’ s metal frame. The device’s three wheels do the
rest of the work.
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T According to Quickwheel Inc., its product can be
‘ driven “for miles” at speeds of up to 45 miles per hour
“without any noticeable change in the vehicle’s brak-
ing or steenng operation.” The company also claims
that it can be used on just about any type of car, jeep,
_= mini-van or trailer.

Bockweg says that Quickwheel will be sold initial-
ly in the United States, at a price of $ 150. Distribu-
i tion agreements now being negotiated should make the
4 product avaliable in Japan, Canada and Western Eu-
rope in the near future.

6.In the first paragraph, “disabled motorists” means

A. motorists who can’t walk
B. motorists whose cars are broken
C. drivers who can’t drive on because of a flat tire
D. drivers who are hurt because of a flat tire
7. Quickwheel
-A. can be used to replace a flat tire
B. provides a kind of temporary support to the flat
tire
C. is capable of moving as quickly as a wheel
D. s as flexible and durable as an ordinary wheel
8. Which of the following is NOT mentioned as an ad-
vantage of Quickwheel?
A. It can be used on almost any type of vehicles.
B. It is safe.
C. It can be fixed quickly and easily.
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D. It is inexpensive.
9. It is implied but not stated that Quickwheel

A.can’t be used in place of a tire over long dis-
tances
B.will be available chiefly in the US
C. can be folded and unfolded
D. functions well over various kinds of road sur-
faces
10.The purpose of the article is
A. to tell readers how to use Quickwheel
B. to tell readers that spare tires are no longer nec-
essary
C.to show how well a new product can meet con-

sumers’ needs

L. to recommend a new product—Quickwheel

Passage 3

Reading to oneself is 4 modern activity which was
almost unknown to the scholars of the classical and me-
dieval( # i 42 # ) worlds, while during the fifteenth
century the term”reading” undoubtedly meant reading
aloud. Only during the nineteenth century did silent
reading become commonplace.

One should be careful, however, in assuming that
silent reading came about simply because reading aloud
is a distraction( 7 #iE & 71) to others. Examination
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of factors related to the historical development of silent
reading reveals that it became the usual mode of read-
ing for most adult reading tasks mainly because the
tasks themselves changed in character.

The last century saw a steady gradual increase in
literacy (£ 5 RE /1), and thus in the number of read-
ers. As readers increased, so the number of potential
listeners decreased, and thus there was some reduction
in the need to read aloud. As reading for the benefit of
listeners grew less common, so came the flourishing of
reading as a private activity in such public places as li-
braries, railway carriages and offices, where reading
aloud would cause distraction to other readers.

Towards the end of the century there was still con-
siderable argument over whether books should be used
for information or treated respectfully, and over whether
the reading of material such as newspapers was in some
way mentally weakening. In deed this argument re-
mains with us still in education. However, whatever its
virtues the old shared literacy culture had gone and was
replaced by the printed mass media on the one hand
and by books and periodicals for a specialised reader-
ship on the other.

By the end of the century students were being rec-
ammended to adopt attitudes to books and to use skills
in reading them which were inappropriate, if not im-
possible, for the oral reader. The social, cultural, and
technological changes in the century had greatly altered
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